
 Replacement Parts
for Filter

UNDERWATER
LIGHTING PARTS



1 03011058 Screw M5*25(316) 1

2 440256797 White Face Ring 1

2 440256797 Gray Face Ring 1

2 440256797 Blue Face Ring 1

2 440536797 Stainless Steel  Face Ring 1

2 440256797 Transparent Face Ring 1

3 E042601 20 LEDs Panel 25W Color 1

4 440526797 Fastener 4

5 03011364 M4*12 Flat head self-tapping screw 4

6 E042602 Retro-fit  Connector 1

6 E042604 Connector (cable version, not include cable) 1

6 105107163 Cable 2.5m 1

7-1 E042603 Retrofit Pool Fitting 1

7-2 89040203 Fitting for concrete pool 1

7-3 89045517 Fitting for vinyl pool 1

1 440256797 White face ring 1

1 440256797 Grey face ring 1

1 440256797 Blue face ring 1

1 440256797 Transparent face ring 1

1 440536797 Stainless face ring 1

2 E042601 20 LEDs Panel 25W Color E-Lumen X(EM) 1

3 440526797 Fastener 4

4 03011364 M4*12 Flat head self- tapping screw 4

5 111040072 O-Ring(vinyl pool/concrete pool) 1

6 111040073 Rubber Mat(concrete pool) 1

7 440650004 Fitting(concrete pool) 1

8 112010112 Screw M3X12(concrete pool) 1

Model: QUARTZ

E-Lumen X “QUARTZ” Series

2

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Pool Fitting (Retro)

1

2

3

4

5

6

7-1

7-2 7-3

Concrete Pool
Vinyl Pool

Model: QUARTZ(EM)

1

2

3

4

5

6

7

8

Part No. Description Piece(s) Required

Replacement Parts

Key No.

E-Lumen X “QUARTZ(EM)” Series

UNDERWATER LIGHTING UNDERWATER LIGHTING



1-1 112010111 Screw M3*18.5(316) 1

1-2 440547998 15 LEDs Panel 13W Color 1

1-3 440647771 Fastener Left 1

1-4 440647772 Fastener Right 1

1-5 112362743 M3*8 screw 316 4

1 E042705 15 LEDs Panel Suite 13W Color for TOP13-C 1

2 E042702 Retro- fit  Connector(For TOPAZ,with cable 2.5m) 1

2 105107997 Cable 2.5m(For TOPAZ) 1

3 112010118 M3*23 screw 316 2

4 440647773 Fastener Ring 1

5 440427770 Clamp Ring 1

6 440087770 Lights Niche 1

7 E042706 TOP13-C Water Joint Fittings for Cable 1

8 E042704 Joint for wire & pipe Suite TOPAZ 1

9 89041605 Plug with O-Ring 1

1-1 112010111 Screw M3*18.5(316) 1

1-2 440547998 15 LEDs Panel 13W Color 1

1-3 440647771 Fastener Left 1

1-4 440647772 Fastener Right 1

1-5 112362743 M3*8 screw 316 6

1-6 440517766 Face Plate 1

1 E042701
15 LEDs Panel Suite 13W Color for TOP13-VL/VS(Composition of 1-1,1-
2,1-3,1-4,1-5,1-6)

1

2 E042702 Retro- fit  Connector(For TOPAZ,with cable 2.5m) 1

2 105107997 Cable 2.5m(For TOPAZ) 1

3 E042703 TOP13-VL/VS Water Joint Fittings for Cable 1

4 02021091 Rubber Ring 1

5 440017769 Nut 1

6 440087767 Lights Niche TOP13-VL 1

6 440087768 Lights Niche TOP13-VS 1

7 E042704 Joint for wire & pipe Suite TOPAZ 1

Model: TOP13-C

E-Lumen X “TOPAZ” Series

2

Part No. Description Piece(s) Required

Replacement Parts

Key No.
Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: TOP13-VL,TOP13-VS

1-3

1-4

1-5

1-6

1-5

2

3

4

5

6

7

1-1

1-2

6

E-Lumen X “TOPAZ” Series

1-5

2

3

4

1-4

1-3

5

6

9

8 7

1-1

1-2

UNDERWATER LIGHTING UNDERWATER LIGHTING

1

1



1 E042708 15 LEDs Panel 13W Color TOP13-EM 1

2 111040072 O-Ring (vinyl pool/concrete pool) 1

1 E111101 ColorTouch Control Box suite EMAUX 1

2 E111110 ColorTouch electronic board 110-220V suite 1

3 510106781 Internal Plate 1

4 510116781 Bottom Plate 1

5 106176996 Power Switch 1

6 E111102 Screw Suite 1

7 04013004 Two-Core cable for output 2

7 105101306 Three-Core cable for input 1

8 106231416 Cable Gland 3

9 E111106 Switch for Learn Key 1

10 E111103 Mounting Bracket Suite 1

11 106697000 Remote EMAUX(With Battery) 1

Model: TOP13-EM

2

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: ColorTouch, 220-240V

1

2

E-Lumen X “TOPAZ” Series ColorTouch Light control box

1

2

3

4

5

6

7
8

9

10

11

UNDERWATER LIGHTING UNDERWATER LIGHTING



1-1 112010115 Screw M3.5*62(316) 2

1-2 440548127 20 LEDs Panel 25W Color 1

1-3 440097739 Pillar 2

1-4 112010116 Screw M3.5*25(316) 2

1 E042801 20 LEDs Panel Suite 25W Color for ZIR25-C 1

2 E042802 Retro- fit  Connector(For ZIRCON,with cable 2.5m) 1

2 105108117 Cable 2.5m(For ZIRCON) 1

3 112010110 Screw M3*18.5(316) 2

4 440427741 Clamp Ring 1

5 440087741 Lights Niche 1

6 111040067 Rubber Gasket 1

7 111040068 Rubber O-Ring 1

8 440017741 Nut 1

9 E042803 ZIRCON Water Joint Fittings for Cable 1

10 E042704 Joint for wire & pipe Suite TOPAZ 1

11 89041605 Plug with O-Ring 1

1-1 112010115 Screw M3.5*62(316) 2

1-2 440548127 20 LEDs Panel 25W Color 1

1-3 440097739 Pillar 2

1-4 112010116 Screw M3.5*25(316) 2

1 E042801 20 LEDs Panel Suite 25W Color for ZIR25-C 1

2 E042802 Retro- fit  Connector(For ZIRCON,with cable 2.5m) 1

2 105108117 Cable 2.5m(For ZIRCON) 1

3 440427740 Clamp Ring 1

4 440087740 Lights Niche 1

5 E042803 ZIRCON Water Joint Fittings for Cable 1

6 E042704 Joint for wire & pipe Suite TOPAZ 1

7 89041605 Plug with O-Ring 1

Model: ZIR25-C

E-Lumen X “ZIRCON” Series

2

Model: ZIR25-V

Part No. Description Piece(s) Required

Replacement Parts

Key No.

E-Lumen X “ZIRCON” Series

Part No. Description Piece(s) Required

Replacement Parts

Key No.

UNDERWATER LIGHTING UNDERWATER LIGHTING

2

3

4

1-4

1-3

56

7

1-1

1-2 1
1-3

1-4

2

3

4

5

6

7

1-1

1-2

8

11

910

1



1 03011321 M5*20 Screw (316#) 1

2 01040205 Transparent Face Plate 1

3 01051256 Face Plate 1

4 89045528 UltraThin LED Panel 20W/12V for 252 LED (Warm white) 1

4 89045529 UltraThin LED Panel 20W/12V for 252 LED (Cool white) 1

4 89045530 UltraThin LED Panel 20W/12V for 252 LED (RGB) 1

4 89045531 UltraThin LED Panel 20W/12V for 252 LED (Single blue) 1

4 89045522 UltraThin LED Panel 35W/12V for 441 LED (Warm white) 1

4 89045513 UltraThin LED Panel 35W/12V for 441 LED (Cool white) 1

4 89045514 UltraThin LED Panel 35W/12V for 441 LED (RGB) 1

4 89045523 UltraThin LED Panel 35W/12V for 441 LED (Single blue) 1

4 89045524 UltraThin LED Panel 50W/12V for 531 LED (Warn white) 1

4 89045526 UltraThin LED Panel 50W/12V for 531 LED (Cool white) 1

4 89045527 UltraThin LED Panel 50W/12V for 531 LED (RGB) 1

4 89045525 UltraThin LED Panel 50W/12V for 531 LED (Single blue) 1

5 01050100 Knot 3

6 01110028 Pressing Fitting 1

7 03011307 M4*12 Screw 4

8 89040203 Fitting for Concrete Pool 1

9 89045517 Fitting for Vinly Pool 1

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: E-Lumen252, E-Lumen441, E-Lumen531

E-Lumen Ultra-Thin led panel

8 Concrete Pool Vinyl Pool9

1

2

3

4

5

6

7

UNDERWATER LIGHTING UNDERWATER LIGHTING

Model: E-Lumen252, E-Lumen441, E-Lumen531

E-Lumen Ultra-Thin led panel



1 03011123 M5*10 Screw for Lid 1

2 03017138 Lid for EL-H200 Lighits 1

3 03013004 Hexagonal Nut (M4) 4

4 01110028 Fastener 4

5 03011348 M4*22 Screw 4

6 89045528 Ultra-Thin 252 LED panel 20W,Warm white 1

6 89045529 Ultra-Thin 252 LED panel 20W,Cool  white 1

6 89045530 Ultra-Thin 252 LED panel 20W,RGB 1

6 89045531 Ultra-Thin 252 LED panel 20W,Single Blue 1

6 89045522 Ultra-Thin 441 LED panel 35W,Warm white 1

6 89045513 Ultra-Thin 441 LED panel 35W,Cool  white 1

6 89045514 Ultra-Thin 441 LED panel 35W,RGB 1

6 89045523 Ultra-Thin 441 LED panel 35W,Single Blue 1

6 89045524 Ultra-Thin 531 LED panel 50W,Warm white 1

6 89045526 Ultra-Thin 531 LED panel 50W,Cool  white 1

6 89045527 Ultra-Thin 531 LED panel 50W,RGB 1

6 89045525 Ultra-Thin 531 LED panel 50W,Single Blue 1

7 01050100 Cable Clip 3

8 E041003 Wate Joint Fittings for Cable 1

9 01171101 EL-H200 Lighits niche 1

10 01171106 Joint for Wine & Pipe 1

1 03011326 M6*80 Screws 2

2 03017075 Stainless Steel Lid (EMAUX) 1

2 01050008 Plastic Lid (EMAUX) 1

3 03011327 M6*55 Hexagon Head Screws 6

4 01100011 Compacting Ring 1

5 89045528 Ultra-Thin 252 LED panel 20W,Warm white 1

5 89045529 Ultra-Thin 252 LED panel 20W,Cool  white 1

5 89045530 Ultra-Thin 252 LED panel 20W,RGB 1

5 89045531 Ultra-Thin 252 LED panel 20W,Single Blue 1

5 89045522 Ultra-Thin 441 LED panel 35W,Warm white 1

5 89045513 Ultra-Thin 441 LED panel 35W,Cool  white 1

5 89045514 Ultra-Thin 441 LED panel 35W,RGB 1

5 89045523 Ultra-Thin 441 LED panel 35W,Single Blue 1

5 89045524 Ultra-Thin 531 LED panel 50W,Warm white 1

5 89045526 Ultra-Thin 531 LED panel 50W,Cool  white 1

5 89045527 Ultra-Thin 531 LED panel 50W,RGB 1

5 89045525 Ultra-Thin 531 LED panel 50W,Single Blue 1

6 01051253 fixed position plate 6

7 01230003 Waterproof Cover 1

8 89041602 Nut Fitting 6

9 89041603 Fastening Kit 2

10 E040801 Water Joint Fittings for Cable 1

11 89041608 Vinyl pool fitting for NP300 1

11 E040718 Vinyl Pool fitting(NP300 Lights Niche with Copper Nut) 1

11 E040802 Vinyl pool fitting (Widening NP300 Lights Niche) 1

12 01050010 NP300 Lights Niche 1

12 01050148 NP300 Lights Niche with Copper Nut 1

12 440087802 Widening NP300 Lights Niche 1

13 89041605 Plug with O-Ring 1

14 01171106 Joint for wire & pipe 1

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: EL-NP300

EL-NP300 Series Underwater Light EL-H200 Series Underwater Light
Model: EL-H200-252, EL-H200-441, EL-H200-531

2

3

4

5

8

9

10

1

6

7

UNDERWATER LIGHTING UNDERWATER LIGHTING

7

6

3

2

1

4

14

13

12

10

9

8

11

5

12



1 03011058 D3/16'' *9/8'' Pilot Screw 1

2 03017112 Face Ring Assembly (#304) 1

2 03017116 Face Ring Assembly (#304) 1

3 03013004 Hexagonal Nut (M4) 4

4 89045528 Ultra-Thin 252 LED panel 20W,Warm white 1

4 89045529 Ultra-Thin 252 LED panel 20W,Cool  white 1

4 89045530 Ultra-Thin 252 LED panel 20W,RGB 1

4 89045531 Ultra-Thin 252 LED panel 20W,Single Blue 1

4 89045522 Ultra-Thin 441 LED panel 35W,Warm white 1

4 89045513 Ultra-Thin 441 LED panel 35W,Cool  white 1

4 89045514 Ultra-Thin 441 LED panel 35W,RGB 1

4 89045523 Ultra-Thin 441 LED panel 35W,Single Blue 1

4 89045524 Ultra-Thin 531 LED panel 50W,Warm white 1

4 89045526 Ultra-Thin 531 LED panel 50W,Cool  white 1

4 89045527 Ultra-Thin 531 LED panel 50W,RGB 1

4 89045525 Ultra-Thin 531 LED panel 50W,Single Blue 1

5 01050100 Cable Clip 3

6 01110028 Fastener 4

7 03011348 M4*22 Screw 4

8 88043605 Stainless Steel Housing for S300 1

1 03011058 φ3/16×9/8" Pilot Screw 1

2 440256151 Face Ring Assembly for EL-S100 Lights 1

3 440546196 Ultra-thin 99 LED panel 10W Warm White 1

3 440546195 Ultra-thin 99 LED panel 10W Cool White 1

3 440546197 Ultra-thin 99 LED panel 10W RGB 1

3 440546198 Ultra-thin 99 LED panel 10W Single Blue 1

4-1 03012004 Metallic Gasket M4 2

4-2 112342644 M4x12 Screw 2

5 88047302 Stainless Steel Housing 1

6 88043502 Plastic Housing 1

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: EL-S300

EL-S300 Series Underwater Light EL-S100 Series Underwater Light
Model: EL-S100L, EL-S100P, EL-S100S

4

5

6

7

8

1

2

3

Part No. Description Piece(s) Required

Replacement Parts

Key No.

UNDERWATER LIGHTING UNDERWATER LIGHTING

4-2
4-1



1 01050119 Lights Face plate 1

2 03011364 M4*12 Screw 1

3 04011109 Bulb plate 12V/8W 198LEDs For Cool White 1

3 04011110 Bulb plate 12V/8W 198LEDs For Colour-changing 1

3 440546887 Bulb plate 12V/8W 198LEDs For Warm White 1

3 04011113 Bulb plate 12V/8W 198LEDs For Blue 1

4 03011364 M4*12 Screw 2

5 01012005 UL/LED-TP100 Lights Bracket 1

6 03011363 M4*16 Screw 2

7 89040401 UL/LED-TP100 Lights Vinyl pool Fitting 1

8 89040501 LED-TP100 Lights Concrete Pool Fitting 1

1 01221003 Colour lens (Red) 1

1 01221003 Colour lens (Green) 1

1 01221003 Colour lens (Blue) 1

2 01051259 Lights Face Plate 1

3 03011012 M4*16 Screw 3

4 01040211 Lights Lens 1

5 02021055 O-Ring 1

6 E040205 Bulb 12V/75W (Warm White) 1

7 89040402 Body Set(with 2.5M cable and socket) 1

8 03011007 M4*12 Screw 8

9 01012005 Bracket 1

10 89040401 Vinyl Pool Fitting 1

11 89040501 Concrete Pool Fitting 1

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: UL-TP100

TP100 Series Underwater Light TP100 Series Underwater Light
Model: LED-TP100

Part No. Description Piece(s) Required

Replacement Parts

Key No.

1

2

3

4

5

7

8

9

6

10 11Vinyl  Pool Concrete Pool

UNDERWATER LIGHTING UNDERWATER LIGHTING



1* 01221002 Colour lens (Red) 1

1* 01221002 Colour lens (Green) 1

1* 01221002 Colour lens (Blue) 1

2 03011321 M5*20 Screw (316#) 1

3 01051059 Face Ring 1

4 01041021 Lens 1

5 03021018 M6 Brass Nut 8

6 01051058 Face plate 1

7 02021004 O-ring 1

8 E040205 Bulb 12V/75W (Warm White) 1

9 89040201 Body set(with 2.5M cable and socket) 1

10 03011320 M6*20 Screw (316#) 8

11 89040203 Concrete pool Fitting 1

12 89044501 Vinyl pool Fitting 1

1 03011321 M5*20 Screw (316#) 1

2 01051059 Face Ring 1

3 03021018 M6 Brass Nut 4

4 01051058 P100 Lights Face plate 1

5* 04011111 Bulb plate 12V/8W LED (White Colour) 1

5* 04011115 Bulb plate 12V/8W LED (Blue Colour) 1

5* 04011112 Bulb plate 12V/8W LED (RGB) 1

6 03011320 M6*20 Screw(316#) 4

7 89040203 Concrete pool Fitting for P100 1

8 89044501 Vinyl pool Fitting for P100 1

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: UL-P100

P100 Series Underwater Light

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Vinyl Pool

Concrete Pool11

12

7

6

5

3

2

1

4

10

9

8

Model: LED-P100

P100 Series Underwater Light

UNDERWATER LIGHT UNDERWATER LIGHT

5* Bulb plate 12V/1W LED has (White/ Blue/ RGB)Notes :

1* 01221002 is UL-P100 Light Colour Lens 1 set with (Red+Green+Blue)Notes :



1 03011321 M5*20 Screw (316#) 1

2 01050102 Face plate 1

3 01110027 Compression screw 1

4 01040212 Lights Lens 1

5 E041204 Bulb 12V/75W for ULH/ UL-NS 1

6 03011132 M4*8 Screw 3

7 03011150 Screw 2

8 04011031 Lamp Socket 1

9 03013039 But 2

10 03017118 Reflector Plate 1

11 04014016 Closed-End Wire Connector 2

12 02021084 O-Ring for UL-CP100 1

13 01231008 UL-CP100 Light Body Set 1

14 04013004 2.5M Cable 1

15 89044501 Vinyl pool Fitting for P100 1

16 89040203 Fitting for Concrete Pool 1

1 03011321 M5X20 screws (316#) 1

2 01040212 Lights Lens 1

3 01050102 Face plate 1

4 01110027 Compression screw 1

5 02021084 O-ring 1

6 89045601 Bulb plate(White Colour),12V/8W 198LEDs 1

6 89045602 Bulb Plate(RGB) 12V/6W 102LEDs 1

6 89045603 Bulb Plate(RGB) 12V/8W 198LEDs 1

6 89045604 Bulb Plate(White Colour), 12V/6W 102LEDs 1

7 89044501 Lights Vinyl Pool Fitting for P100/ CP100 1

8 89040203 Lights Concrete Pool Fitting for P100/ CP100 1

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: UL-CP100 Model: LED-CP100

Part No. Description Piece(s) Required

Replacement Parts

Key No.

CP100 Series Underwater LightCP100 Series Underwater Light

UNDERWATER LIGHT UNDERWATER LIGHT



1 03011334 M5x30Screw 1

2 89045901 LED Panel (Cool White) 1

2 89045902 LED Panel (RGB) 1

2 89045903 LED Panel (Warm White) 1

2 89045904 LED Panel (Single Blue) 1

3 440415448 Cable clip 4

4 112342644 M4x12 Screw 4

5 E040201 Fitting for Concrete pool 1

6 E042201 Fitting for vinly pool 1

1 03011338 M4*12 round head machine screw 2

2-1 01050126 Cover 1

2-2 01050134 Cover 1

3-1 04011116 Cool White Light 1

3-1 04011117 RGB Light 1

3-1 04011118 Warm White Light 1

3-1 04011119  Single Blue Light 1

3-2 04011137 Cool White Light 1

3-2 04011138 RGB Light 1

3-2 04011139 Warm White Light 1

3-2 04011140  Single Blue Light 1

4 03011354 M4*8 round head machine screw 4

5 03011160 M4*25 pan head tapping screw (Vinyl Pool) 6

5 03011341 M4*16 pan head tapping screw (Concreter Pool) 6

6 01173036 Mounting ring 1

7 02021089 Rubber ring 2

8 01050133 Shell 1

9 E040801 Waterproof Fittings for cable 1

10 01051141 Hexagon nut 1

 11 01171106 Line pipe joint 1

 12 02021091 Rubber ring  2

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: ARR30

Aurora Light
Model: EL-COMP-N, EL-COMP

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Concrete Pool

Vinyl Pool

E-Lumen Compact Light

UNDERWATER LIGHT UNDERWATER LIGHT



1 03011189 M6*80 Screws 2

2 01050008 Plastic Lid (EMAUX) 1

2 01050025 Plastic Lid (Blank) 1

2 89041609 Stainless Steel Lid (EMAUX) 1

2 89041610 Stainless Steel Lid (Blank) 1

3 03011184 M6*55 Hexagon Head Screws 6

4 01100011 Face Ring 1

5 04011004 Par56 Bulb(300W) 1

5 08040026 Par56(144 LEDs,12V/10W,Auto RGB) 1

5 08040025 Par56(144 LEDs,12V/10W,Cool White) 1

5 08040024 Par56(252 LEDs,12V/16W,Auto RGB) 1

5 08040022 Par56(252 LEDs,12V/16W,Cool White) 1

5 08040023 Par56(252 LEDs,12V/16W,RGB with remote) 1

6 02010019 Waterproof O-Ring for Par56 1

7 01230003 Waterproof Cover 1

8 89041601 Waterproof O-Ring with Tooth Head for Cable 1

9 89041602 Nut Fitting 6

10 89041603 Fastening suite 1

11 89041604 Water Joint Fittings for Cable 1

12 E040709 Two-Core Cable 2.5m(With wiring connector,For no remote version) 1

12 E040405 Three-Core Cable 2.5m(With wiring connector,For remote version) 1

13 89041608 Vinyl Pool fitting(For NP300 Lights Niche) 1

14 01050010 NP300 Lights Niche 1

15 89041605 Plug with O-Ring 1

16 01171106 Joint for wire & pipe 1

1 03011323 M5X40 Screw for Face Plate for Vinyl Pool 1

1 03011325 M5X25 Screw for Face Plate for Concrete Pool 1

2 01051066 Face Plate (Blank) 1

2 01051067 Face Plate (Emaux) 1

3 02021011 Gasket for Bulb 1

4 04011004 PAR56 Light Bulb (Yellow Light) (Standard Bulb) 1

4 08040022 PAR56 252 LEDs Bulb (White Colour) - Replace 04011043 1

4 04011044 Par56 252 LED Bulbs (Blue Colour) 1

4 08040023 PAR56 252 LEDs Bulb (With Remote Control) - Replace 04011045 1

4 04011056 Par56 (252 LED Bulbs)12V/16W (Automatic Colour Change) 1

4 08040025 PAR56 144 LEDs Bulb(White Colour) - Replace 04011047 1

4 04011048 Par56 144 LED Bulbs (Blue Colour) 1

4 08040026 PAR56 144 LEDs Bulb (Auto Colour Change) - Replace 04011049 1

5 02021001 Waterproof O-Ring for bulb 1

6 01271001 Waterproof Cover 1

7 89040301 Waterproof O-Ring with Tooth Head for Cable 1

8 89040312 Water Joint Fittings for Cable 1

9 03014002 Spring 1

10 89040304 P300 Lights Vinyl pool fitting 1

11 01171107 P300 Lights Niche 1

12 01171106 Joint for Wire & Pipe 1

13 04013072 Cable 2.5M 1

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: UL-P300

UNDERWATER LIGHT

P300 Series Underwater Light

UNDERWATER LIGHT

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: NP300

NP300 Series Underwater Light



1 03011058 φ33/16x9/8"Pilot Screw 1

2 03017021 Face Ring Assembly for UL-S300 Lights 1

3 03017018 Wire With Nut for UL-S300 Lights 1

4 03011134 M6X50 Bolt for Wire 1

5 03012006 Metallic Gasket M6 2

6 03021018 Hexagonal Brass Nut M6 1

7 87012004 Lens for UL-S300 Lights 1

8 02021019 Waterproof washer for UL-S300 Lights 1

9 E041505 E27 Bulb 12V/300W 1

9 04011035 E27(252 Bulbs) LED 12V/16W(White) 1

9 04011046 E27(252 Bulbs)LED 12V/16W(Automatic Colour Change) 1

10 89040701 Light Encasing with 2.5m cable for UL-S300 Lights 1

11 88043605 UL-S300 Stainless Steel Lights Niche 1

1 03011058 φ3/16×9/8" Pilot Screw 1

2 03017010 Face Ring Assembly for S00 Lights 1

3 03017005 Wire with Nut for S100 Lights 1

4 03011133 M6*40 Bolt for Wire 1

5 87012003 Lens for S100 Lights 1

6 02021016 Waterproof washer for S100 Lights 1

7 04011021 LED Bulb 12V/1W LED (White Colour) 1

7 04011017 LED Bulb 12V/1W LED (Automatic Colour-changing) 1

7 04011053 LED Bulb 12V/5W LED (White Colour) 1

7 04011050 LED Bulb 12V/5W LED (Automatic Colour-changing) 1

7 E041411 E27 light bulb for S100 (100W/12V) 1

8 89040702 Light Encasing with 2.5m cable 1

9* 88043602 Stainless Steel Housing for S100 1

10* 88043502 Plastic Housing for S100 1

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: UL-S300, LED-S300, UL-S300-S, LED-S300-S

UNDERWATER LIGHT

S300 Series Underwater Light

UNDERWATER LIGHT

Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: LED-S100L, LED-S100S, LED-S100P

S100 Series Underwater Light

9 & 10* No niches for LED-S100L (88042302)Notes :



Part No. Description Piece(s) Required

Replacement Parts

Key No.

Model: UL-H100

UNDERWATER LIGHT

H100 Series Underwater Light

UNDERWATER LIGHT

10

13

4

1

2

3

5

6

9

7

11

12

16

15

Vinyl Pool

8

14

Part No. Description Piece(s) Required

Replacement Parts

Key No.

1 03011123 M5*10 Screw for Lid 1

2 03018028 Lid 1

3 87012002 Glass Cover 1

4 02021014 Washer 1

5 03011046 M5*5 Round Head Screw 2

6 03031015 Reflector Cover 1

7 04011005 Bulb 12V/75W 1

8 89041001 Inner Base with Porcelain Base (Set) 1

9 89043701 Water Joint Fittings for cable(copper nut on the Inner Base) 1

10 04013004 2.5M Cable for UL-H100 1

11 03011050 M4*30 Screw for Vinyl Pool 8

11 03011005 M4*12 Screw for Concrete Pool 8

12 01171095 Placement Plate with M5 Nut for Nuts 1

13 02051004 Washer for Vinyl Pool 2

14 E041003 Water Joint Fittings for cable(on the Niche) 1

15 01171099 Niche for UL-H100 1

16 01171106 Joint for Wire & Pipe 1

1

2

3

4

5

6

7

8

9

10

11

12

13

Model: UL-H200

1 03011123 M5*10 Screw for Lid 1

2 03018020 Lid 1

3 87012001 Glass Cover 1

4 02021012 Washer 1

5 03031016 Reflector Cover 1

6 E041204 Bulb 12V/75W 2

7 112652883 M5 Nut(316#) 7

8 89041003 Inner Base with Porcelain Base (Set) 1

9 89043701 Water joint fittings for cable(copper nut on the Inner Base) 1

10 E041003 Water Joint Fittings for cable(on the Niche) 1

11 105106121 2.5M Cable for UL-H200 1

12 01171101 Niche for UL-H200 1

13 01171106 Joint for Wire & Pipe 1

H200 Series Underwater Light

Concrete Pool

1

2

3

4

5

6

7

8

9

10

11

12

14

15

16



1* 01221001 P50 Light Colour Lens (Red+Green+Blue) 1

1* 01221001C UL-P50 Light Colour Lens (Clear) 1

2 01041019 Inside Covers for P50 Lights 1

3 02021010 O-Ring 1

4 E040105 Halogen lamp MR16 AC 12V/20W for UL-P50 1

4 E040104 LED-P50 lamp 12V/1W (Automatic Colour-Changing) 1

4 E040103 LED-P50 lamp 12V/1W (White Colour Only) 1

5 02021000 O-ring for Encasing 2

6 89041101 P50 Lights Encasing Set 1

7 01021007 Nut 1

8 89041102 Connector with Gasket for Cable 1

9 04013001 Lights Cable 1.5M for P50 1

1 03017151 Cover 1

2 01040217 Transparent lid 1

3 02021100 Silicone Seal 1

4 440546573 LED panel Suite(Cool White) 1

4 440546574 LED panel Suite(Warm White) 1

5 03017152 Stainless Steel Housing 1

6 111040035 Round Silicone Rubber(Black) 1

7 440616933 Plastic Gasket 1

8 03017153 Nut 1

9 03011386 hexagon socket head cap screw 2

10 89045701 Light Shell for TL-1F 1

11 89045802 Light Shell for TL-1C 1

12 89045801 Water Joint Fittings for TL-1C 1

13 01171106 Joint for wire & pipe(gray) for TL-1C 1

A E042004 LED Panel(Cool White,with stainless steel housing) 1

A E042005 LED Panel(Warn White,with stainless steel housing) 1

Part No. Description Piece(s) Required

UNDERWATER LIGHTING

Spa Light
Model: UL-P50, LED-P50

Replacement Parts

Key No.

Terra-Lux Light
Model: TL-1C, TL-1F

1

2

3

4

5

6

7

8

9

Part No. Description Piece(s) Required

Replacement Parts

Key No.

1* 01221001 is  UL-P50 Light Colour Len 1 set with (Red+Greee+Blue) or 1* 01221001C is  UL-P50 Light Colour Len with (Clear)Notes :

TL-1F TL-1C

10

12 13

1

2

3

4

5

6

8

7

9

A

11

* item 1-8 are replacement for new Terra Lux shipped from 1-Oct-19
* item A for any replacement parts from item 1-8 for Terra Lux  before or after 1-Oct-19

Notes :

UNDERWATER LIGHTING



1 03017055 Face Plate 1

2 03011168 M4*20 Screw 6

3 03017054 Face Ring 1

4 87012009 Lights Lens 1

5 02021038 Waterproof Washer 1

6 E040105 MR16 Halogen Lamp 12V/20W 1

6 E040104 MR16 (18 Bulbs) LED 12V/1W Panel (Automatic Colour Change) 1

6 E040103 MR16 (18 Bulbs) LED 12V/1W Panel (White-Colour) 1

7 89042801 Light Encasing 1

8 03012020 M4 Washer 4

9 03013004 M4 Nut 4

10 89044302 Waterproof Fittings for Cable 1

11 04013004 2.5M Cable 1

12 03017068 Light Shell (90mm) 1

12 03017069 Light Shell (110mm) 1

13 01171106 Joint for Wire & Pipe 1

1 03017055 Face Plate 1

2 03011168 M4*20 Screw 4

3 03017054 Face Ring 1

4 87012009 Lights Lens 1

5 02021038 Waterproof Washer 1

6 E040105 MR16 Halogen Lamp 12V/20W 1

6 E040104 MR16 (18 Bulbs) LED 12V/1W Panel (Automatic Colour Change) 1

6 E040103 MR16 (18 Bulbs) LED 12V/1W Panel (White-Colour) 1

7 89044301 Light Encasing 1

8 03012020 M4 Washer 4

9 03013004 M4 Nut 4

10 89044302 Waterproof Fittings for Cable 1

11 04013004 2.5M Cable 1

12 03017056 S.S Hoop 1

13 89044303 Body Stand 1

14 03011087 M5 X 17 Star Screw 1

15 03011023 M5*35 Round Head Tapping Screws for Vinyl Pool 2

16 87013019 Plastic Wall Fitting for Screw 2

Part No. Description Piece(s) Required

UNDERWATER LIGHTING

Fountain Light
Model: UL-F20, LED-F20

Replacement Parts

Key No.

Model: UL-F20A, LED-F20A

Part No. Description Piece(s) Required

Replacement Parts

Key No.

UNDERWATER LIGHTING

Fountain Light

1

2

3

4

5

6

7

8

9

10

11

12

13

1

2

3

4

5

6

7

8

9

10

11

12

1314

15

16



1 03011007 M4×12 Screws 4

2 04014062 Lighted Switch 1

3 E110102 Receiving Electronic Board (220V 50Hz/60Hz) 1

3 E110103 Receiving Electronic Board (110V 50Hz/60Hz) 1

4 03011196 M3×6 Screws 6

5 89480101 Control Box 1

6 04014013 Cable Gland 3

7 87013019 Plastic Fitting 4

7 03011023 M5×35 Screws 4

8 E110104 Remote control with Battery 1

8 E110105 Remote control with Battery (EMAUX) 1

9 01360015 Panel Board 1

Part No. Description Piece(s) Required

UNDERWATER LIGHTING

Light Control Box 
Model: RGB-CB(220V), RGB-CB(110V)

Replacement Parts

Key No.

Junction Box
Model: EM2823

Part No. Description Piece(s) Required

Replacement Parts

Key No.

UNDERWATER LIGHTING

3

2

5

4

1

6

1 570532988 Lid for the Junction Box 1

2 02011046 O-ring for the Lid Junction Box 1

3 01014088 Body for the Junctioin Box 1

4 01171106 Joint for Wire & Pipe 3

5 01301016 1m Hose 1

6 02011050 O-ring 3



1 440650009 Protective cover 1

2 440650011 Half Moon cover 1

3 440650010 Eagle Eye cover 1

4 440650006 Sleeve A (for 50mm PVC Pipe PN10) 1

5 440650007 Sleeve B for 50mm PVC Pipe PN16, 1.5 inch CLASS 12/CLASS 15( ) 1

6 E043005 Sleeve for EM2831A E, EM2836A E TS( / / ) 1

7 111040091 Rubber ring 1

8 E043006 12 LEDs Light Body 18W Color EAGLE EYE( ) 1

9
E043007 

(E043001)
Adapter 2.5m cable
(Adapter 7ft cable)

1

9
E043008 

(E043002)
Adapter 15m cable
(Adapter 50ft cable)

1

9
E043009 

(E043003)
Adapter 30m cable
(Adapter 100ft cable)

1

9
E043010 

(E043004)
Adapter 45m cable
(Adapter 150ft cable)

1

Part No. Description Piece(s) Required

UNDERWATER LIGHTING

E-Lumen X - ”Eagle Eye” Series 
Model: EAG18

Replacement Parts

Key No.

Model: EAG18

UNDERWATER LIGHTING

1

2

3

4

5

6

8

9

7

E-Lumen X - ”Eagle Eye” Series 


	
	页 1

	150-2022 E-Lumen X TOPAZ Series TOP13-C VL VS.pdf
	页 1

	150-2022 E-Lumen X TOPAZ Series TOP13-EM ColorTouch Light control box.pdf
	页 1

	150-2022 E-Lumen X ZIRCON Series.pdf
	页 1

	154-155-2022 E-Lumen252 441 531.pdf
	页 1

	156-157-2022 EL-NP300 EL-H200.pdf
	页 1

	158-159-2022 EL-S300 EL-S100.pdf
	页 1

	160-2022 TP100 Series Underwater Light UL-TP100 LED-TP100.pdf
	页 1

	161-2022 P100 Series Underwater Light UL-P100 LED-P100.pdf
	页 1

	162-2022 CP100 Series Underwater Light UL-CP100 LED-CP100.pdf
	页 1

	163-165-2022 Aurora Light E-Lumen compact Light.pdf
	页 1

	167-168-2022 P300 Series Underwater NP300 Series Underwater.pdf
	页 1

	169-2022 Replacement Parts Underwater Light LED-S300 UL-S300.pdf
	页 1

	171-2022 H100 & H200 Series Underwater Light.pdf
	页 1

	172-173-2022 Replacement Parts UL-P50  LED-P50 Underwater Light & TL-1F, TL-1C Terra-Lux Light.pdf
	页 1

	174-2022 Replacement Parts UL-F20 LED-F20 Fountain Ligh & UL-F20A LED-F20A Fountain Ligh.pdf
	页 1

	177-178-2022 Replacement Parts Light Control Box RGB-CB & EM2823.pdf
	页 1

	Replacement Parts E-Lumen_X_Eagle_Eye_Series Light.pdf
	页 1




